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Master of Arts 3rd Semester Examination

1127
ECONOMICS

[Opt. (Hi) Basic Econometrics]
(MAECO-303 and 304)

(In All Mediums)
Time ; 3 Hours] [Max. Marks : 80

Note :- Attempt five questions in all, selecting one question
from each of the four Units. Q. No. 1 is compulsory.

(Compulsory Question)
1. Attempt any ten in 25-30 words :

(i) What are the divisions of Econometrics ?

(ii) Differentiate between primary and secondary
data.

(iii) Give any two assumptions of Linear Regression
Model.

(iv) Is there any difference between the Ordinary
Least square estimates and Maximum Likelihood
estimates of a Simple Linear Regression Model ?
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(v) What is Heteroscedasticity ?

(vi) What do you mean by Orthogonality ?

(vii) State the reasons under which multicollinearity
may arise.

(viii) Distinguish between Autocorrelation and
correlation.

(ix) What is a distributed lag model ?

(x) Define Koyck mean lag.

(xi) Distinguish between partial adjustment and
adaptive expectation models.

(xii) Write any two Auto Regressive models used in
Economics.

(xiii) The regression model in Y = a + alnL + plnK
+ AT was estimated and the following results
were obtained :

-
Coefficients f-value Level of

significance

Log A = -16.033 -2.248 0.39

a = 0.983 2.676 .017
-

(3 = 1.206 2.802 .013

X = 0.0302 2.538 0.022

Comment on the significance of parameter
estimates.
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(xiv) Define hypothesis.

(xv) How do you interpret eigen value and Variance
Inflation factor obtained while estimating multiple
Regression models. 2x10=20

Unit-I

2. Describe in detail the methodology followed in an
Econometric Research. 15

3. Prove that OLS estimates are BLUE (Best Linear
Unbiased Estimators) 15

Unit-II

4. Discuss the various tests and remedial measures for
the problem of heteroscedasticity. 15

5. Explain Durbin Watson test to detect autocorrelation.
What are its limitations ? 15

Unit-Ill

6. Is OLS satisfactory for estimating models using
Koyck lag system ? If not, discuss the appropriate
method. 15

7. Explain Almon's approach assuming that the number
of lags is 5 and degree of the polynomial is 3. 15

Unit-IV

8. A consumption function was estimated using SPSS
software and the following results were obtained.
Interpret the results : 15
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Variables Entered/Removed3

Model

1

Variables Entered

Income^

Variables Removed Method

Enter

(a) Dependent Variable : Consumption

(b) Al! requested variables- entered.

Model

1

R

.981a

R

Square

.962

Adjusted

R Square

.957

Std. Error

of the

Estimate

6.49300

Durbin-

Watson

2.680 ,
1

(a) Predictors : (Constant), Income

(b) Dependent Variable : Consumption

ANOVA"

Model

Regression

1 Residual

Total

Sum of

Squares

8552.727

337.273

8890.000

df

1

8

9

Mean

Square

8552.727

42.159

F

202.868

Sig.

.000b

(a) Dependent Variable : Consumption

(b) Predictors : (Constant), Income

NA-145 ( 4 )



I

Coefficients3

Model

(Constant)

Income

Unstandardized

Coefficients

B

24.455

.509

Std. Error

6.414

0.36

Standardized

Coefficients

Beta

.981

t :

3.813

14.243

Sig.

.005

.000

Coliinearity

Statistics

Tolera-

nce

1.000

VIF

LOGO

(a) Dependent Variable : Consumption

Coliinearity Diagnostics8

Model

1

Dimension

1

2

Eigenvalue

1,947

.053 '

Condition

Index

1.000

6.083

Variance

Proportions

(Constant)

.03

0.97

Income

.03

.97

(a) Dependent Variable : Consumption

9. Write down the steps for testing and redressa! of
heteroscedasticity and autocorrelation using computer

techniques. 15
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(xi)

*lps|l!,l

(xii) ST^IIf^ 3 TPJ3?T ^ ^t 3tf2t

fdRslU.!
^

(xiii) Y = a + odnL + (31nK + XT ^

Log A = -16.033 -2.248 0.39
'

a = 0.983 2.676 .017

P = 1.206 2.802 .013

X = 0.0302 2.538 0.022

(xiv)

(xv)

? 2x10=20'
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2. S

15

3. fas =hir^H % OLS 3TTcf5eR BLUE (Best Linear

Unbiased Estimator) tlcTT %i 15

5. SffStenv-̂ P^R? ^>t "3TR ^ WtQ, ~f.

cf«n '$w<b\ "fTiHiit f ?

6. î  ST^RM "q f̂iT r̂r 3 f i ^ p;

OLS ^F^TSPT^

15

1. "zr? :Rr:T^ p; % ~SWR ST^RM 5 t

3 %, Sfl̂ FR <JHMIH ^>I ^H ^hlRjm.1 15
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8. SPSS

(a)

(b)

(a)

(b)

uni 1331

15
ufcce

yRi<i(i

1

R

,981a

R

Vf

.962

«Hi*fin»ici
R ^f

.957

•sgHFt ^t

HH* '^fe

6.49300

^sfe- :

clldyH

2.680

ANOVAa

yRKifl

nIcl'lHI

1 3iq[?|t>i

Tfa

*fl ^T%I

8552.727

337.273

8890.000

df

1

8

9

•RKRH

8552.727

42.159

F

202.868

Sig.

.000b

(a)

(b)
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*rf

L(fAi*0

•siHiittii'jia

'̂ «l|ch

B

24.455

.509

HH* "jfe

6.414

0.36

Hiicni'jin

after

.981

t

3.813

14.153

SiS.

.005

.000

*1H<.l«"?>ni

•Hl'fel*!

^

1.000

VIP

1.000

(a)

WMmgenni H<;ili<»)

1
1

2

1.947

.053

(a) "Pnft ^T : ^^frT

9. sh'-̂ di d*Hll* ^1 "SPfrfT ^>T?

fulfil

1.000

6.083

siytra

('ft̂ rsp)

.03

097

1 §M, fq^Hiq<HiKcii d

3TF?

.03

.97

«TI

15
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: 1 OT^t fl" I

1 . fsrft UH ^JH(I7 % H^H i^ 25-30 HH^ f%% oft :

(i) »ragr fk^t ̂  oft

(ii) >pgw wfB" ?u

(iii) tftfoT ufd^ddeS HTgW ^»T S" X'ftd1*'

(iv) oft HM'di tftfoT ̂

»f̂  »fftjoT3H

(V) feBMfeti'Pdd' oft t ?

(vi) ^'dydicSfodl H1 HHf oft

(vii) @?T ojidA' § ̂ H frFH $"

^ny?) d Horet & i

(viiii) Hftr-H&T

(ix) tl̂  vildd'M KfSW oft ̂ "

(x) ojyloi HTT

(xi) >>ffBoT

oftl

(xii)
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(xiil) Y = a + oclnL + plnK + XT uf^JBTJ

Wp-PTT

(xiv) 1|U oTW-f?)1"

(xv) aoG^wl IJdldlH?)' X'SW' S1" HWoiT)

^_ O O r> /?__v .__

2. »raH TKJT^IftHM'rt TCH

Log A = -16.033

a = 0.983

(3 = 1.206

X = 0.0302

CtoTHteg- JJISHT?

'

-2.248

2.676

2.802

2.538

> £ >Rf3sf & HHt

$¥S

0.39

.017

.013

0.022

fynjof oft

2xio=20

nfcld ^deirt oTt I 15

3. ftnj oft for OLS HWfofTT BLUE (Best Linear Unbiased

Estimator t^thl 15
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H

(q)
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(a) : nftra" , »FHtj?>

(b) fcSdsfd tra" : §

ANOVA8

ynte^H

\[fe3TH?>

zSw

?OT^Grar

8552.727

337.273

8890.000

df

1

8

9

HUH7?)

8552.727

42.159

F

202.868

Sig.

.000b

(a) Qsdsfd

(b)

MHteHH

'

1.

>W^fe

as!*

B

24.455

.509

Itt

6.414

0.36

WTOtl^

55toT

^

.981

t

3.813

14.153

Sig.

.005

.000

HHtftoiH1"

TTfeTtiofl

wlrtd1

1.000

VIF

1.000

(a)
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MHtt^H

1

fiTCTH

1

2

Wfefc, HTS

1.947

.053

nftlbl

HboCo)

1.000

6.083

fetidrt

WftWTH

(HftRT)

.03

097

o(H^

.03

.97

(a) ((Sdsfd H^ : §U^3T

15
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